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1.When ODB-BAOC is active for a subscriber, which entity performs the Barring for MOC Calls?
A. MSS

B. HLR

C.MS

D. SCP

Answer: A

2.X3 interface is used for:

A. CDR transfer

B. Administrative interface to LIC

C. Transmission of call related/unrelated information to LIC
D. Transmission of call content to LIC

Answer: D

3.In the process of KPI monitoring, which items need to be planned and decided?
A. KPI list.

B. Tools to be used.

C. Measurement activation.

D. All the above.

Answer: D

4.X1 interface is used for:

A. CDR transfer

B. Administrative interface to LIC

C. Transmission of call related/unrelated information to LIC
D. Transmission of call content to LIC

Answer: B

5.In MOCN, which configuration is used by RAN node to keep UE served by the same selected CN
operator pool?

A. IMSI

B. TMSI

C. NRI

D. TLLI

Answer: C
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